THRIOEE EREEDNERELEGHRERE VYVILR—ILEE 1HH
Ad—F HE1HE
F— L4 2 3 4 5 6 7 8 9 &
Pk {2 H =24 0 3 0 3
5Ea—JLK
BEEPERK 0 0 4 X | 10
Ad—F E2HE
F—L4 2 3 4 5 6 7 8 9 &
= Z PR 0 0 0 0
: 5Ea—J)LK
MR FE 3 2 1 X 8
Ad—b+ E3HE
F— L4 2 3 4 5 6 7 8 9 &
EANFER 0 0 0 0 1 1 5
BEERFR 0 2 0 2 0 0 4

8E4A2A4JL—Hh—




Ba—+ H1#H&

F— L% 6 7 ;
N 0 0 6
& Arhiks 4 x 10

Ba—F+ FE2:HE
F— L% 6 7 ;
IR s ,, :
KB h e 9

Ba—h H3HA
F— L% 6 7 5
PR 0 4 9
B A 2 0 7

Ba—+bF FE4:HE
F— L% 6 7 ;

K Ot sty 0 0 0
KIB R 0 < 3




o

TH3I0OEE EREEFERELREAETKRE VI hAR—IEER 2HH
Ad—F E1HEe #HERE

F—L4 1 2 3 4 5 6 7 &

MR FE 3 4 0 4 11
N 4la—)L K

EAFER 0 0 0 0 | 0
Ba—bF FE1HE R

F— L4 1 2 3 4 5 6 7 B

FE PR 0 0 0 1 1 0 0 2

KRR 5 0 0 1 0 0 X 6
Ad—F+ F2xE R

F— L4 1 2 3 4 5 6 7 &
#HAFESFL 2 5 0 0 0 7

5k\=z—/)L K

KA =E 0 0 0 0 0 0

KGR

1AL #PAF R A 4 R 207 KRB SR 3L NP - R
X AL 2 F—NT TN KREHS (8 H7~9H dAb/UNTHOONE 22 2 F R E#E)




